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Quiz Review

1) Solve for x by getting the equation equal to 0 and then factor.

”"’m\k b) X*-3x—70=0
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a) x“+11x=-30 . .
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c) X*-2x=0 d)3ax’-9x=0
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2) Solve for x with use of a graphing calculator.
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a)2x*—7x-3=0
X =-0,3%0b | Xz =0

X=3

) Solve for x by isolating x?, then taking square roots of both sides of the equation
f o |
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4) Find the missing piece to complete the square. Use (5) .
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Completing the square steps:
Rewrite the equation in the form ax’ +bx=c
Divide each term by a if ais not 1.
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Complete the square by adding G) to both sides of the equation.

Factor into a perfect square.
Solve for x

ek WMo

5) Solve for x by means of completing the square.

a)x*+4x—-3=0 b) x*—4x—-12=0
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6) Solve by using the quadratic formula.
—b +Vb?% — 4ac
X =
2a
a)x*+6x+9=0 . b) 8*-7x+1=0
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6) (Continued) Solve by using the quadratic formula.

B —b +Vb?% — 4ac

X
2a
c)-2x*+7x—1=0 d)4x*—2x+1=0
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7) Evaluate the discriminant (part under the square root in the quadratic formula). Decide how
many real solutions we will get (0, 1, or 2).
discriminant = b% — 4ac
We have the following three cases:
1. If the discriminant > 0, then we get two real solutions.
2. If the discriminant = 0, then we get one real solution.
3. If the discriminant < 0, then we get no real solutions
a)x*-6x+9=0 b) 5x*+2x—1=0
o) b= -l =0 :
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8) Simplify the following. - (
a) (3 + 4i) - (2 + 11i) L= N~ b) (5 —i)(3 + 2i)
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8) (Continued) Simplify the following. (ot /@x’ 3t o¢
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